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= Model Test One

Part 1 Listening Comprehension (20 minutes)
Section A

Directions: J» this section, you will hear 10 short conversation. At the end of each
conversation ,a question will be asked abowt what was said. Both the conversation
and the question will be spoken only once. After each question there will be a pause.
During the pause ,you must read the four choices marked A) ,B),C) and D) ,and
decide which is the best answer, Then mark the corresponding letter on the Answer
Sheet with a single line through the center.
Example : You will hear:
You will read;A) At the office.
B) In the waiting room.
C) At the airport.
D) In a restaurant
From the conversation we know that the two persons were talking about some
work they he;d to finish in the evening. This is most likely to have taken place at the
office. Therefore ,A) “ At the office” is the best answer. You should choose [ A]
on the Answer Sheet and mark it with a single line through the center
Sample Answer [A] [B] [C] [D]
[. A) Twenty minutes B) Fifty minutes

C) Twenty — five minutes D) Fifty - five minutes
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2. A) To the beach B) To a movie theatre
C) To a play D) To a restaurant
3. A) He must meet his boss.
B) He must attend a meeting.
C) He must go out with his girlfriend.
C) He must stay at the company to finish his work.
4. A) Husband and wife 7 B) Father and daughter
C) Doctor and‘patient D) Teacher and student
5. A) John thinks he talks too much.
B) John thinks he is a simple — minded person.
C) John thinks he is always very frank.
D) John thinks he doesn’t like speaking.
6.A) On foot. B) By bus. C) By car. D) By bike.
7.A) Look for a more expensive hotel.
B) Go to another hotel by bus.
C) Try to find a quiet place.
D) Take a walk around the city.
8. A) Near the train station. B) In the countryside.
_ C) In the city. D) Near the work place.
9. A) He doesn’t know what she meant.
B) Three suitcases are a lot to take with them.
C) He doesn’t expect to go on a trip.
D) He doesn’t want to carry another suilcase.
10. A) Fell asleep.
B) Went to see the movie.
C) Watched the football game on TV,
D) Watched the late movie.
Section B )
Directions: 5, this section , you will hear 3 short passages. At the end of each pas-
sage ,you will hear some questions. Both the passage and the question will be spoken
only once. After you hear a question ;you must choose the best answer from the four
choices marked A) ,B) ,C) and D). Then mark the corresponding letter on the An-

swer Sheet with a single line through the center.
- Passage One :



I: Questions 11 to 13 are based on the passage you have just heardJ

11. A) He felt thirsty and wanted some coffee.

B) He went there to meet his friends.

C) He wanted to find a place to read his papers.

D) He wanted to kill time before boarding the plane.
12. A) Food and coffee. B) Toys for children.

C) Important documents. D) Clothes and scientific papers.
13. A) The woman took his case on purpose.

B) All his papers had been stolen.

C) He had taken the woman’s case.

D) The woman played a joke on him.

Passage Two

[ Questions 14 to 16 are based on the passage you have just heard.j_l

14. A) Breakfast. B) Lunch. C) Dinner. D) Any time
15. A) Billions. B) Tens of thousands.
C) Millions. D) Thousands.

16. A) The restaurants have few tables and chairs.
B) The restaurants are very samil.
C) The restaurants serve hamburgers through a window.
D) The restaurants charge more to eat inside.

Passage Three

L()uestions 17 to 20 are based on the passage you have just heard‘]

17. A) 1895 B) 1901 C) 1962 ‘D) 1968
18. A) 1o recognize worthwhile contributions to humanity

B) to resolve political differences

C) to honor the inventor of dynamite

D) to spend money
19. A) literature B) peace

C) economics D) science

20. A) Awards vary in monetary value
B) Ceremonies are held on December 10 to commemorate Nobel' s invention. !u

C) Politics can play an important role in selecting the winners.
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D) A few individuals have won two awards.

Part 1 Reading Comprehension (35 minutes)

Directions ; There are four passages in this part. Each passage is followed by some
i questions or unfinished statements. For each of them there are four choices marked
:‘ A),B),C) and D). You should decide on the best choice and mark the correspond-
; ing letter on the Answer Sheet with a single line through the center.

‘ﬁuestiom 21 10 25 are based on the following passage ; ‘

Eye contact is a nonverbal technique that helps the speaker “sell” his or her

ideas to an audience. Besides its persuasive powers,eye contact helps hold listener

/
i
{
1
interest. A successful speaker must maintain eye contact with an audience. To have
good rapport( 2% ) with listeners, a speaker should maintain direct eye contact for
at least 75 percent of the time. Some speakers focus exclusively on their notes. Oth-

ers gaze over the heads of their listeners. Both are likely to lose audience interest
and esteem. People who maintain eye contact while speaking, whether from a plat-
form(&i}t4 ) or from across the table, are “regarded not only as exceptionally
well — disposed by their target but also as more believable and earnest. ”

To show the potency of eye contact in daily life ,we have only to consider how
passers — by behave when their glances happen to meet on the street. At one ex-
treme are those people who feel obliged to smile when they make eye contact. At
the other extreme are those who feel awkward and immediately look away. To make
eye contact it seems, is to make a certain link with someone.

Eye contact with an audience also lets a speaker know and monitor the listen-
ers. It is,in fact,esseqtial for analyzing an audience during a speech. Visual cues
(E%7%) from audience members can indicate that a speech is dragging,that the
speaker is dwelling on a particular point for too long, or that a particular point re-
quires further explanation. As we have pointed out, visual feedback from listeners
should play an impon.ant'role in shaping a speech as it is delivered.

21. This passage is mainly concerned with

A) the importance of eye contact

B) the potency of nonverbal techniques

) successful speech delivery

D) an effective way to gain visual feedbacks



22. According 1o the passage,a good speaker must
A) “sell” his or her ideas to an audience
B) maintain direct eye contact with listeners
C) be very persuasive and believable
D) be exceptionally well - disposed
23. The word “target” in the last sentence of the first paragraph can best be re-
placed by
A) “destination” B) “goal”
C) “audience” D) “followers”
24. In daily life, when the glances of two passers-by happen to meet, these two per-
sons will inevitably
A) smile to each other
B) feel awkward and look away immediately
C) try to make a conversation with each other
D) none of the above
25. Eye contact with an audience, according to the author, has atl the following ben-
efits for the speaker EXCEPT that it doesn™t
A) help the speaker lo control the audience
B) help the speaker to gain audience interest and esteem
C) help the speaker to know whether he is talking too much about a certain
poinl

D) help the speaker to analyze his audience when he is beginning his speech

{i();xu;;: 26 to 30 are based on the following passage :

The American Revolution was a citizen’ s revolution. Ordinary men took a
large part in it. One of them was Paul Revere, a silver worker. He lived in Boston
many years ago during the time when many people in the British colonies in Ameri-
ca felt that they were being used for Britain’ s gain. They felt that they were being
taxed without fair representation in the British government. The people of Boston
were especially’angry, and additional British troops had been sent there 1o keep the
excited colonists under control. Paul Revere was one of those whe believed that the
British would soon be on the march against the villages and farms near Boston.

On the night of the eighteenth of April, 1775, Revere rowed across the Charles

River to a place opposite Boston where his saddled horse was ready to ride. If the
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Bnush soldxers came, he was to ride to wam the people. A friend in Boston was

hidden near the British troops in a place where he could watch what they did. If

they marched by land, he was to hang one lantern high in the tower of the old North

Church in Boston where Paul could see it. If they came by sea,he would hang up

two lanterns.

~——

Towards moming Revere saw two lights in the tower. The British must be

coming by sea! He jumped on his horse and rode through the countryside before

dawn in order to warn the farmers and villagers that they must fight at daybreak. He

rode all night,and in the morning, by the time the troops arrived , the farmers were

hidden all along the roads with their guns loaded. When the British came,the A-

mericans drove them back. These first battles of the American Revolution were

fought at Concord and at Lexington , Massachusetts ,on April 19,1775. In 1776 the

colonies signed a declaration of independence.

26.

27.

28.

29,

What is the author’ s main purpose in the passage?

A) To provide information about the childhood of Paul Revere.

B) To discuss the war between the British and the Americans.

C) To tell the reader a story aout Paul Revere in the American Revolution.

D) To describe the courage of the farmers and villagers in the Amercian Revo-
lution.

Which of the following is TRUE of Paul Revere?

A) He was very interested in politics.

B) He got a relative to help him.

C) He fought the British himself.

D) He told the people about the coming enemy.

All of the following is mentioned in the passage Except

A) the American Revolution was a revolt

B) Paul’s friend signalled from a church

C) the British troops were sent to control the colonists

D) Paul’s friend was serving in the British army

It can be inferred from the passage that

A) The British colonies in America were very much aroused.

B) The farmers and villagers were good at fighting their enemy.

C) It was the first battle that Paul Revere had ever taken'part in.

D) Paul Revere had a strong sense of pride of being American.



30. The author’ s attitude towards Paul Revere is

A) amused B) respectable C) distant 1)) serious.

mw.\'lions 31 10 35 are based on the following passage :

Manners nowadays in metropolitan cities like London are practically nonexist-

ent. It is nothing for a big,strong schoolboy to elbow an elderly woman aside in the
dash for the last remaining seat on the tube or bus, much less stand up and offer his
seat to her.

This question of giving up seats in public transport is much argued about by
young men,who say that,since women have claimed equality, they no longer de-
serve 1o be treated with courtesy ( $L58 3§ il) and that those who go out to work
should take their turn in the rat race like anyone else. Women have never claimed
1o he physically as strong as men. Even if it is not agreed , however, that young men
should stand up for vounger women, the fact remains that courtesy should be shown
to the old  the sick and the burdened. Are we really so lost to all ideals of unself-
ishness that we can sit there indifferently reading the paper or a book, saving to
ourselves " First come, first severd” , while a grey-haired woman, a nother with a
young child stands? Yet this is all too often seen.

Older people , tired and irritable from a day’ s work ,are not angels . either—far
from it. Many a brisk argument or an insulting quarrel breaks out as the weary
quetes push and shove each other to get on buses and tubes. One cannot commend
this . of course  but one does feel there is just a little more excuse.

If ¢ities are to remain pleasant places to live in at all, however, it seems im-
perative, not only that communications in transport should be improved, but also
that communication between human beings should be kept smooth and polite. All o-
ver cities, it seems that people are 1oo tired and too rushed 10 he polite. Shop assis-
tants won 't bother to assist, taxi drivers grow! at each other as they dash danger-
ously round comers,bus conductors pull the bell before their desperate passengers
have had time to get on or off the bus,and so on and so on. It seems to us that it is
up to the young and strong io do their small part to stop such deterioration.

31. From what vou have read, would you expect manners to improve among people
7

A) who are physically weak or crippled lll

B) who once lived in a prison — camp during the War




32.

33.

35.

D) who live only in small towns

What is the writer' s opinion concerning courteous manners lowards women?

A) Now that women have claimed equality, they no longer need to be treated
differently from men.

B) It is generally considered old - fashioned for voung men to give up their
seals to young women.

C) “Lady First” should be universally practised.

D) Special consideration ought to be shown to them.

On the tube or bus,according to the author, older people

A) often offer their seats to others

B) are treated better than younger people are

C) are no more considerate than younger people towards each other

D) from the Continent are more irritable

. Communication between human beings would be smoother if

A) people were more considerate towards each other

B) people were not so tired and irritable

C) women were treated with more courtesy

D) public transport could be imporved.

What is the possible meaning of the word “deterioration” in the last paragraph?
A) Worsening of general situation.

B) Lowering of ‘moral standards.

C) Declining of physical constitution.

D) Spreading of evil conduct.

I?)uestion.s 36 to 40.are based on the following passage:

The use of .the motor car is becoming more and more widespread in the twenti-

eth century,as an increasing number of countries develop both technically and eco-

nomically, so a larger proportion of the world’ s population is able to buy and use a

car. Possessing a car gives a much greater degree of mobility, enabling the driver to

move around freely. The owner of a car is no longer forced to rely on public trans-

port and is, therefore , not compelled to work locally. He can choose from different

“ " jobs and probably changes his work more frequently as he is not restricted to a
:‘ choice within a small radius. Travelling to work by car is also more comfortable



than having 1o use public transport. The driver can adjust the heating in winter and
the air conditioning in the summer to suit his own needs and preference. There is
no irritation caused by waiting for trains, buses or underground trains, standing in
Jong patient queues ., or sitting on windy platforms , for as long as half an hour some-
times. With the building of good ,fast motorways long distances can be covered rap-
idly and pleasanily. For the first time in this century also, many people are now a-
ble to enjoy their leisure time to the full by making trips to the country or seaside at
the weekends, instead of being confined 1o their immediate neighbourhood. This
feeling of independence, and the feedom to go where vou please, is pethaps the
greatest advantage of the car.

When considering the drawbacks , perhaps pollution is of prime importance. As
more and more cars are produced and used,so the emission from their exhaust -
pipes contains an ever larger volume of poisonous gas. Some of the contents of this
gas such as lead, not only pollute the atmosphere bul cause actual harm to the
health of people. It is also becoming increasingly difficult to deal with the problem
of traflic in towns, most of the important cities of lhé world suffer from traffic con-
gestion, In fact,any advantage gained in comfort is often cancelled out in ity driv-
ing by the frustration caused by traffic jams. The mounting cost of petrol and the in-
creased licence fees and road 1ax all add 1o the driver’ s worries. In fact, he must
sometimes wonder if the motor car is such a blessing( %3 ) and not just a men-
ace.

36. More and more people can afford to buy and use cars because
A} an increasing number of cars are being produced
B) the cost of cars is getting cheaper with the development of the technology
C) lots of countries have become more developed
D) the use of cars has proved to be more economical
37. In paragraph | ,the underlined word “ radius” means .
A) distance B) circular area  C) routine D) period of time
38. The author believes that the motor car is
A) rather a menace than a blessing B) rather a blessing than a menace
C) a blessing as well as a menace D) a blessing
39. The advantages of having a car is best experienced in the driver's
A) freedom in choosing his job B) comfort during the travels

C) enjoyment of his leisure time D) feeling of sell-reliance
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40. What is considered by the writer as the greatest menace to the people caused by
the widespread use of motor cars?

A) Air pollution. B) Traffic jams. C) Fatal diseases. D) High cost.

Part I Vocabulary and Structure (20 minutes)

Directions : There are 30 incomplete sentences in this part. For cach sentence there
are four choices marked A) ,B),C) and D). Choose the ONE answer that best
completes. the sentence. Then mark the corresponding letter on the Answer Sheet with

a single line through the center,

41. One must try his best to the new environment.
A) adopt to B) adapt 1o C) adept D) adapt
42. A completely new situation will when the new examination svstem

comes into existence.

A) rise B) raise C) arouse D) arise
43.Don’t count ______ him, he is not.reliable.
A) for B) with C) on D) in
44. When 1 took his temperature , it was two degrees above the
A) average B) normal C) ordinary . D) regular
45. 1t is ridiculous that we ____ short of water in a country where it is always
raining.
A) will be B) be C) will D) are
46. Generally speaking, childem seem to be easier to ______ a foreign language
than the adult.
A) put on B) take on C) turn up D) pick up
47, 1If law and order , neither the citizen nor his property is safe.
A) is not preserved B) have not been preseved
C) are not preserved ‘ D) were not preserved
48. He objects to ___ loud music ______ while he reads newspaper.
A) have/play B) have/played
C) having/played D) having/having played
49. She was extremely understanding, - helped to calm the little boy down.
A) which B) this C) that D) who

50.1 would like that 1 deh’t have a very high opinion of you.



